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Question 1. Which assumption on the structure of the prokaryotic gene causes the wrong identification of the START codon of the first gene? (1pt)

[Answer here]

Question 2. Assuming that only ATG can be used as a START codon, manually evaluate the Sensitivity, Specificity and F-score for the prediction of START and STOP codons (30,000 first nucleotides). Use the START and STOP positions in GLIMMER3 as the "truth" reference. (2pt)
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Question 3. Assuming that both ATG and TTG can be used as START codon, manually evaluate the Sensitivity, Specificity and F-score for the prediction of START and STOP codons (30,000 first nucleotides). Use the START and STOP positions in GLIMMER3 as the "truth" reference. (2pt)
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Question 4. What is the impact on specificity and sensitivity of allowing TTG to be considered as a potential START codon? How can you explain this result? (2pt)

[Answer here]

Question 5. Why is it easier to correctly predict STOP codons while they are in fact more likely to be found in a random DNA sequence? (2pt)


[Answer here]

Question 6. Explain what is the purpose of the following Python script (2pt):

fin = open(“mygenome.fasta”)

fin.readline()

genome = fin.read()

here = 0

while not here == -1:

    here = genome.find(“GAATTC”, here)

    print( str( here ) )

fin.close()

[Answer here]

